AN-3 2013
CHEM STRY MARKING SCHE ME

SET -56/ 3( AN
Q no. | Answers Mar ks
1 Itisfirst order of reaction 1
2 A d; 1
3 Xe OF4
1
4 6 NAOH +3d, & 5Nd +NdQ +3H,0 1
[G(en)s] [ Go( CNe] 1
6 Heat baththe conpounds wthl, and N\a OH 1
Propan-2-d g ves—yeHaw ppt. of lodofor m(or any a her test)
7 4- oxopentanal 1
8 It increases the pulse rate and bl ood pressure. 1
9 d=zx M
& X Ny Vs
For fcc lattice z=4
a=distance x \2 =287 pmx 1414
=406 pm
Yo
d= 4x 108 g ol ™t
(406 x 10% cm)® x 6 022 x 10?® nol™*
d=1072gcm® 1
10 (1) Anbidient Nucleophile: Nucleophiles wthtwo nucleophilic certres are called
anbi dient nucleophile. Yo+ s
ex CN, NQ (any one exanple)
(i) H nkel stei n reacti on
CH-CH-d + Nl CHCHI +Nad 1
11 (a) Because of resonance in CH, CONH,, Nacquires +ve charge whereas due to H effect
el ectron density on Nincreases in CH CH NH,
(b) Because of strong activation effect o +Reffect of NH, group in aronatic anmines. 1+1
—tor—cn be explained by diagra mmatic representati on)
12
(a) Add ag KOHfdlowed by 2 4- DNP to baththe conpounds. 1, 1-dichl oroet hane g ves
yell ow ppt. 1

(or any a her correct test)
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(hCh B KCN CH 3CN CH3MgBr/H30 T 1
CH 3COCH 3 >
(or by any a her sutable nethod)
13 (i) CH- CH- CH NH
i\le
(i) CH- CH CH
(ili) CH-CH- NH CH
fHa 1X3=
(iV) CH- N CH 1%
(A least 3 correct structures shoul d be witten)

Propana mne and 2-a ninopr opane Y,

14 €)
'I+ '|+
cr (3
en en &n 1/2 + ]/2
=y i
Cie Torins

(b)sp’cf, octahedral / It isan outer orhital octahedral conplex withsp®d hybridisation Yo+ Vs

15 1 Diodeis aconbination of ntype and p-type sem conductors andis used as
rectifier.
2 npnand pnp type of transistors are usedto detect or anplifyradio or audio signals.
3 The sdar cell is an efficient phato dode used for conversion of light energy to 1+1

electrical energy. (any two)
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16

The activated conplex has atransient existence and breaks up at a definite raetofor mthe
product.
The energy required to for mactivated conplexis called acti vati on energy.

OR
The rate of reactionis defined as the change in concentration of reactants or products per
unit ti ne. or nathe matical expression
If the rateis neasuredinlarger ti ne interval(st) thenit is called average rate whereas if the
rateis neasuredin very small ti ne irterval(a-0) thenitis calledinstantaneous rate.

1+1

Yot Yo

17

[R]; k(t,-t,)
[RL, = 2303
2:30 ]
= 3 log'[R,'
(l:z —tl) [RL)
2.303 1.24x10™ mol L
= : —-log :
(60min-0min) ~0.20x1072 mol L
2.303
60
k = 0.0304 min’

log

k

log 6.2 min™*

Y2

Ya

18

(i) Because the ions present insaline water enhance the electroche mcal process of rusting
(ii) Because the nunber of ions per unit vol une decreases wth dil uion

1+1

19

(i) Hhonogeneous Catalysis: The catal ytic process in whichthe reactants and cata yst arein
the same phase is known as Honogeneous catal ysis.

(i) Enzyme Catal ysis: The process of cata ysis inwhich enzynes are used toincrease the
rate of bioche mcal reactions.

(iii) Associated Collaids: Sone of the substance behave as electrdytes a low
concentration but behave as cdladat higher concentration

20

1) Because of dscretetetrahedral structure of white phosphor us.
(i)  Because of interelectronic repulsionin F, due toits shorter bond length
(iii)  Because B is nore stable intrivalent state

1x3=3
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21 Ho nmopol y ners Copol yners
Pol yrers whose repeating struct ural Pol ymers whose repeating structural units are
units are derived fromonly one type of | derived fromtwo or nore types of nmononer
MoNO ITers units. mol ecul es.
ex Pdythene, PVCetc ex Njon 66 Buna-Setc
(or any ather exanple) 1+1
(b) PVC (Palyvinyl Chl oride)
1
22 Ag" +€ >4
108 gis deposited by 96500 C el ectric charge
145 g of sil ver is deposited by 96500C x 145¢g =12956 C 1
108 g
Quantity of electricty passed = Qurrent x t
t = 1295.6C =863 75 1
15anp
C’* + 26 >Qu
2 X 96500 Cdeposits 635 g of Qu
1295.6 Cdeposits 6359 x 1295.6 C of Qu
2x 96500 C
=0426 gof Qu )
Zn*t + 26 SZn
2 X 96500 Cdeposits 654 g of Zn
1295.6 Cdeposits 654gx 1295.6 C of Zn
2x 96500 C
Y
=044 gof Zn
22 OR
o _ _O
E cell = Ecahode - Eanode
=034V-(-076) V 1
=+L10 V
A G) =- nFEO cell Ya
=-2 x96500C nmol* x 110 V
=-2133K mol™ 11/2
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23 Li mited Spectrum Antihbictics: They are effective against asingle arganismar dsease. Yo+ Yo
ex Penicllin G
Antiox dants: Che mcal substances which prevent the oxidation infood stuff etc. are called Uy +
anti ox dants. 2T
ex BHA (or any a her exanple)
Tranquilizers: Drugs which act on central nervous syste mand thus hel pinreducing anxiety
are called tranquilizers. Vot V2
ex Equanil, Seconal,luminal etc (or any a her exanpl e)
24 (a
The i npure N is heatedwith carbon nonoxi de( CO) tofar mvdatile conpound N(CO4
whi ch on further heating deconposes a higher temperature gives pure N.
(b) Because of higher ertropy inliquidstae.
(c) N\aCNiis used for the leachi ng of sil ver ore inthe presence of airtofarma sduble 1x3=3
conplex
25 (3
H—cl'{—g— "/—\IIF =% H I E'; H Y
2-C-0-H+H ——= H-¢-C-0"
H H H H
1
ﬁI IL|I k|l Sl | I|{ ’
B _ s i ow _ e
HL?(%QH—}EH(;(|3+HQO
H H H H
H H
5 1, H H 1
H-C- ¢ &= €= +H
III ! H H
Ethene
()
CH
cO 2 1

H
5] dust CHaCOC|
é = Elcr—?
dmhyo‘-A)C.';
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26 0 Ram Kndand hel pful Yo+ s
Police: Boundtotheir duty and hel pful
(ii)
-Inthe nanufacture of fertilizers Yx4=2
-In petrd eumrefining
-In detergent industry
-Instorage batteries
217. (b)Prateins which consist of linear thread like nmolecules whichlie side by side. 1
ex Insuinabumns (any one) Yo
(¢) Nucleic acids are pdyners of nuclectides. 1
Function They are responsible for transfer of genetic infor mation fromone generationto Yo
the a her./ pratein synthesis (any one function)
28. (A CHCO,0 CCHCOOGH E=CH COCH 1%
B=CH COOH D=G HOH 1%
()
(i) Propanol and Propanone : Propanone g ves yellowppt of 1odofor nf CHI3)on addition
of NaOH/ I, whereas Propanol does nat givethis test. 1
(or any a her sutable test)
(ii)
Because carbon of carboxyl groupisless electrophillic 1
OR
28 ()
d's )K \ﬂ ChC ]ﬁ“ﬂv":"(?‘:iw S L,\;}T '('mn!ﬂ"‘%rf OH /& {3/7{ 5
" CHy COCH,y }(Axrh, > r‘H_gf,M-/‘!-ig XDy chs CH, 141

OH

(or any a her correct sutable net hod)
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(b)
(i) Because - COOH s a deacti vating group. -
(ii) Because one NH isinvol ved inresonance wth carbonyl group.
(©)
1
Kol Slyeol
~ o N S N, —— X
C=0C g
-~
29. | (a
‘ . n,
Molality of sugar solution = CizH0n1 x 1000 1/2
WHZO (in grams)
_ _1 1000
312" 100 ~ 016 m
AT, solution = 273,15
} for sugar solution = 27315 K - 271 K = 2.15 K
AT, = K; xm
AT, 215
K, =22 _ 2156 .,
- b K kg mol ™ !
r ;
[ Molality of glucose solution = —"CaH 120, '
i : _—'—"— x 1000
; Wy, (In grams)
_.5 1000
v X_IO‘O = 0.278 mol kg
AT, = K, xm
AT} (Glucose) = 21
7 (Glucose) 0.1<I§K kg mol™" x 0.278 mol kg
“ox 1
A =4.09 K
“ Freezing point of glucose « ion = 27 j
glucose solution = 273.15 K-409K = 269.06 K. 7

Calculate the mace ~e .. . _

(b)

Henry’s lawstates that at a constant tenperature, the solubility of a gasinaliqudis
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directly proportional tothe pressure of the gas over the sd uion
Applications
(1) To increase the sd ubility of CQ insoft drinks and soda water, the battleis
sealed under high pressure.
(i)  Scuba divers nust cope with high concentrations of dissdved Ntrogen wth
breathing air a high pressure under water. To avoid this air is dlued wth He.
(iii) A high altitudes the partial pressure of oxygenis lessthanthat a the ground
level.
Low bl ood oxygen causes anoxia

(any two)
oY) moles ;“{‘ benaene Y 8 3L 3 ¥
mao
4 7 =0.7
X g D 3 o
€ V) -¢r7 O “/\‘/
T O/
, Y . O
r’(: = ‘e
i 4 O7 J ) VY
-~ ~ ’
F1 Pr
—+ Ly
~U-Honm ¥
-t | L\ :
27 Q 7y
le koache o BemizfNE y e Py
Pamhia] V- P ol BEMzETe
r = /- f I ~ { OV
~ 6

Y2
+Y2

Yo

Yo

Ya

Ya
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(b

On addi ng non vd atile sol ute vapour pressure of sd uion decreases. Thereforeto freeze
the sd uionte nperat ure has to be lowered down causing depression of freezi ng poi rt.

30.

30

(a) Because of Lanthanoid contraction

(b) Because of the presence of unpaired electrons there is strong netallic bondi ng and t hus
have high enthal py of a omi zation

(c) Because Mh?* is more stable due to half filled 3° whereas @>* is stable due to half
filledtyy® orhital.

(d) Because of the absence of unpaired el ectrons.

(e) Because of half filled stable 3d® confi guration

OR
(a)
4F0,Q +8NCQ+70 8 N, rQ +2F, Q +8CQAQ
2N, O Q +2H —SNap, O, Q +2Na° + HO
Na, OrGQ +2 Kd _)|<ZO-ZQ +2Nad

O chromate ion changes to chromate ion onincreasein pH

(b) The steady decrease in atomc radii wthincrease inaomec nunber is
called lant hanoi d contracti on

1x5=5

1%

Y2
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consequences:

5d series elenents have nearly same atomc radi

(c) Because of the presence of unpaired el ectrons.
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